HF AL KANER(C)FTIEER (LFH) :@,: %}] |ZJ ‘{&

. .
5% ‘= :i :li =
% r=X 7 X 20 x=44
FLHWEF(—) | U.120km 490kg 250 £ 600m
A& E£\31.4cm 57cm? 33.12cm  25.12cm?
7 1 5 5 1 5 4
2 715 93 7 o1 o9 2 % 6 hR
1 25 ! SHMEF (D)
5 18 :
; AEE
—\> < = > > = :
4 8 3 8
L — 3 — 1 = S 2826 0
=419 1 7 5 N 27 9 5 3
=155 4 29 4 06 375 125 0575
L2711 11
45% 60% 35% 57.5% : ' 11
2. 4dm 2cm 10m 2cm  4cm  20m  6.28cm + —.> < = < < =
2512dm 628m 3.14cm? 50.24dm? 12.56cm’ | = 19 % 5:2 % 1:6 % 61 6 51 5
28T ;
85T
3 3 14 5
—34 — 325 - 149 — 5:12 5 1 1 1
4 25 9 12 +—q L 1 1
A0 5 7 15 g
109 - 150:1 150 Ly
L =Xy x=50 x=160
~ 1 10 !
—5 3 4 25 :E\4OHIE 160m

F1W



Pq.1. 1.86cm?  129cm?

2. 0.715cm?

%1112 kR

“BEREZFIEMN

—.1.28 45 0.75 75

2. 0.67 0.607

3.4:1 14

25
216

5.25 25

6. 60 66.7 50

9.95 96

10. 487.5

11. 10

12.20 25

Y

[1]

W1

L1,

X 2.V 3. X 4, X 5. X

35 > - 10 075 105 >
67 S 1526 2 58 >

2% 6 80 =

xmg x={e x=30

. 240x3-+5-=160(kg)

. (1.65-1.6)+1.6=3.125%

. (1)13x10%=1.3(GB)

9.5x(1-80% )=1.9(GB)

K4 1.3<1.5<1.9, Fr LMRAFAE E A8 .

(2)1.52(1.5%10%+3)=30( 434%H)

R, R AR AR R SRR A

B 2.7, R—FRMABE IR RN

IS 14, Dk — = SR AR




—.1

2:8:7,

34 =4(\)

X 2+8+7

- BEXFN R A SR B BEN A X JC.

135%x-90%xx140%=18.9

x=210

% 15 16 kR

“BRS LA EFIEN

.24 7536

Q@ 0O @

.18.84 28.26

. 3.8308

.16.56 12.56

. 102.8

. 12.56

Vo2 X 3. X 4. X

+=1A 2C 3D 4A 5C
EP_Tl\l. 30.84cm 56.52cm? 55.12m 170.24m?
2. 15.48cm?

75.1. 12.56+3.14+2=2(m)

! 3.14><22><L11—:3.14(m2)

2. (1)3x30+0.6=150(Fb)
(2)3x50+2=75(cm)

75+0.6=125(%))
125<150, fr A Il L 2850 A s
(3) LIS WL — R € IE] C 5772 150 &b, H 4y
SE—RBIR] C s 2 125%2=250 (#). 150
45 250 M/ NARTECR 750, it RLEATTRER
i, AHIE R H 2 T 750+250=3( &l ).
3. (1)3.14x1.5x2+0.628=15( &)

(2)3.14x1.5-3.14x(2+2)*=3.925(m?)




4. 3.14x(10+2)%+3.14x(6+2)%=106.76 (*F-J5 -} )
3.14x(12+2)2=113.04(FE771)

106.76<113.04, FIr LA/NKIAMEAS 2%
18 R

“Geit SRR R R
—. L ¥k mE

2 2

3. (DREE (2)48 (3)12 (4)125

4. (D EJE (K (3)Z (4)50 20
—1LA 2B 3A
=1 BIBAAEE.

2(1)1 2 8 4 35 2 2

(2)m

(3)D145~149 140 LI'F

@169 L) I

(S

.70

. 8660

£ 19.20 AR

SiEINESR

& N

.42 750

.35 10

.50.24 39.48

10.5 15

D=L

=1

X

D

2.V 3. X

2. A 3.A

10 64 0.07

4.

4. A

16

81

33

5.D




2
2.12 5 80

3.x=8.4 x=30
4.81.4dm 143dm?
G S

75.1.180+2=90(m)

5

90><5_|_4

=50(m)

4
5+4

90x =40(m)

50x40=2000(m?)

2. 94.2+3.14+2=15(m)

3.14x15°-3.14x3?=678.24(m?)

3. BB RS2 xm.

X—20%xx150%—-20%x=3

X=6

4. B A.B MR xkm,

4 9 _
?XXW—48

x=120

9 \_
lZOx(l—W )=12(km)

.(1)7 17 11 5 13 25 1 1

(2)m%

(3) 7R AR B L 2 gt vy M K JE A O B AR |

LA R AT e

56 24 .25 hiY

GZERENRE(—)

.16 32 3 125

. 700 140

. 1256 12.56

.140 25 15

.72 120

. 5112

.15.7 785




10. 45 : 12500x( 1+20% )+5000=3(JC)

A X 20X 3.X 4V 5 X : % 26,27 hi

1.C 2C 3.A 4B 5A : o —
! ZEEENEH(Z)
1 3 !
M.1.015 6 5 45 81 100 01 21 ' —.1.50 15 15 0.6
L2212
2 6 :
2.5 54 5 ¢ :
3. Wb A
_ _ 1
3. x=10 x—10
4.49 50
F .1 mEms  JEK.10.28cm AL 6.28cm?
' 5.66.7
2. & :
' 6.68

S 1 120+2—x(1-é—)=140(k)
7.150.72 28.26

2. 6.4:10x1=0.64(L) LB BRI ST ML TSR

3. BEXAFR LK K xm. . 9.500 400

x( 1—30%—% )=840 10. 6

=1V 22X 3V 4 X 5 X
X=2800

4. 3.14x(26+2)*-3.14x(14+2)*=376.8(m?)

5. 5000x2.4+500=12500( JT.)




2.3 19 40 ;— &% 28.29 hit
3. x=2.7 x=12 f SEEENRFA(Z)
—.1.40 9 75 075
.1 W

2.54 20
2. (1)%— (2)18 f

' 3.13% 0.124 %; 12.5%
7%\1.25x§%+§%=10(7:) :
L 4.18 20
2. (3000-800)x20%=440(t.) . 543 169
6.2
3. 31.4:3.14:2=5(m) :
' 7.36 54
3.14x5%-3.14x(5-2 )2=50.24(m?)
8.3.14
50.24x0.5=25.12(1)
9.20 40 15
4.(1)75 45 20 . 10.54 120

P Z.1 X 2. X 3.V 4V 5 X
(2)60+75+120+45=300( %%) !

+ =1.C 2A 3C 4C 5B
(100+60)=+(100+300)=40%

o ' M.1.064 1256 31 63 1 Lo 1 15
5. XA x its
T 2200 2 45 & o252 2
(55%-7,7 x=12 :
g2, 103
x=40 ;3'3782




2
4. 7.74cm 1+%:12( [E /1))

S
. _ 1 .
1+(10+12)= 7 (/B
2.(1)20% 280 200 120 160 40
. 2. 20+2+2=5(cm)

(2)
3.14x5%:2x4=157(cm?)

75.1. 6800x(1+35%)=9180(JC)
3.14x(20+2)*=314(cm?)

2.(1)6+2=3(m)
157+314=50%

3.14x(3+1)%-3.14x3=21.98(m? : e
X(3+1)%-3.14x3=21.98(m) 3. AT P SRR B LA 546,

3. 28+(1+2+4)=4( N\)

4x(4-1)=12(\)
s =16(J0)

4. 900+2—+(1+25%):864(fa)

6 _ .
%%:GOXTMG =24(J0)

5. 400x3.33%x3+400=439.96(JL.)

4, VXA IR B JE M x TT .
1410x30%=423(JT.)

! 80%x(1-5% )x=150
[y 439965423, T LABKBE ARATEU L 1 g S

x=~197
LR
: 1,1_5
& 31 IR = (1_67)X?_ 24
5 1 5\ .o
RERB—XK L 240x(1-5—7)-10=140(J0)
1 1
1. 1+=-=10([&/mt) : (L1
10 6. 20:(5—7357)=80()

FE8IM



